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Whether they are new or whether they are old

OVERVIEW

The X n3 cited a 71wn that hillocks that are close to a city or a road are Xnv;
whether they are new or old. A new hill should not be that suspect of
harboring 7Xm10 for since it is relatively new, the people would be aware if
someone was buried there. Nevertheless the Xin teaches us that even nwn
are also mxnv. The order seems somewhat puzzling, why mention MW
which is more novel, before Maw> which is more understandable.' There are
also (numerous) other N1"1wn where indeed the v1w5 is mentioned first. Why
the change here?! mao1n will answer this question.

nvoIn asks:
— 0P VIV IIRY 99211 XONT NN

It is astounding! For the X1n mentions here in this 71wn, the case (MW7) in

which the ruling is not so simple that it is X0, before the case (miw>) where the
ruling is more obvious that it is Xnv.

mooin offers another example where the VYW 11X precedes the V1ws:
— DOYIN /2 )AY PNOY 1Y INYI XDV YOIND? NI (x,x1 97 mn) \IINNA 19)

And similarly in y2w57 P79 the mawn states concerning women who were
previously married or betrothed that the should not become betrothed, nor

should they marry until three months passed from the end of their previous

relationship; this rule applies —
—ZmIya AN MINA THN

Whether these women are virgins or whether they are n¥»wa.’ In this 7w as
well, the Xin -
— AYNN VIV IINRY 132907 MVIYA ONP MPINA PRIV OTIP 1P0IN 99

mentions 21X (which is not so 11wo) before X1 which is more MWw»,
and he mentions N2 before mM»w2; meaning that he mentions first the

! The preferred order is that the lesser w17 is mentioned before the greater wTn.

% The text in our 71w reads: MOMX TARY MR TAR 191 M2IWA TARY MINA TAR 191 WY ¥ 0D 89, In the
last phrase (Mo1X TR NMIXIW1 T1X) he does mention the MWD first.

? The reason for this ruling is in order for us to distinguish any child she may bear within nine months of
her separation; if it is from her previous husband, or from her current husband. Once three months pass and
she is not pregnant we know that any ensuing child is from her current husband.
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case which is not (so) wwws.*

moon will now contrast this with other instances, where the 075 is mentioned first:
=197 5292 YW DIP1M D TANRI N2> NN 1IN (3,03 97 NIYN YN

However in 7''% noon the mawn states ‘whether it is in 1712 or whether it is

in any place where there is a 7''92’;> the 29w is blown on naw.
— NY2 DIVD 927 VP BN

There the 71w» mentions the simpler and more obvious ruling first; m2
was the seat of the 177710. It is more obvious that one can be 9912 ¥ in 1712 more
readily than in other 0°1°7 °na.

mooin offers another example where the VYWd is mentioned first:
— DY) NV 912 999NN THN (3,5 1) NP X222 1)

And similarly in p''3 n>on the 71wn states that one is obligated to pay for the

damages caused whether he dug a pit, a 7w, or a 739Y%. The M2 is the more
obvious one, for that is written clearly in the ,‘hm,6 as opposed to 7y» 1w which are not
written in the 770.

mooin offers an additional example where the VY5 is mentioned first:
— NN 39991 25 1D NPIDN TANY NNAN TAN (x,m 77 NVID NIVNI)

And in 7w noo» concerning those who are required to leave the
battlefield, the 7iwn states ‘whether he built a new house or whether he

bought a new house, etc., he should leave. In that case as well he mentions the vWw»
(7M2), first for that it what is clearly written in the a0 as opposed to Y.

mdoIn brings a final example that the X1n mentions a7P VIWH:
— N9V NRYYY NI NTSNM ) (0w 5,3 91 NINDT NP P92 59592 9193 379
And 5w also is 8913 in the first P92 of 71270 NO0» concerning the status of

a large mat that was made for lying on it, the rule is that it is susceptible to
become —

* It is obvious that in order to allay our concerns of distinguishing to whom the child belongs, it is
necessary that she should not get married; but not that she should be prohibited from merely 1°017°X (where
there is no relationship between husband and wife). Similarly if she remained a 77102 from her previous
marriage there is no concern to whom the ensuing child belongs to; as opposed if she is a 722 from the
previous marriage, where there is a valid concern.

> The nawn there is discussing where the 77%» of 991 ny>pn is performed on nawa N> Smw 7.

6 99935 %2 (2°wOWwn) NIMW; 'DSW® M H¥A 191 M WK 7D Y.

"1,5 (Dwow) o137,

¥ moon will shortly state what is the 077 of >"2.
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— 1197 NN NIVP NN TN TNYIN 239 713 199501 PR) INDY
X»v and therefore it cannot be used for 929. K''% states whether it is a

small mat or whether it is a large mat there is no difference.'’ This concludes the
citation from the 71wn there (on 2,1° 7).
- NDN 1979 37U 190Y £1902 2N D3N 1YY 5321 NIV /NY NIYTI /N T>19)

And the X1 there challenges that X" should have said whether it is large
or whether it is small; not '7973 nnXY 7avp NnX' as it says in the mwn.
However, in the texts it was written (in the 71w» and in the X7%3) in the
reverse. The 0°750 were 0713 in the VP 'R 77173 'R’ mwn and the s'R23
question was that the 7awn should have said 77173 'R1 mwp 'R. However »''wA

reversed the X293} both in the 71wn and in the X3 to read as Moo has just quoted

above. The reason why >"w1 reversed the X073 is —
— DY VIVON VDTN DININN TITT OIVN

Because it is the manner of the 2°81n to mention the vws first; it is more
v that a 77173 is WS than that a mvp is wa.!' We have therefore conflicting N1wn; in
some the Vw5 X is mentioned first (here and in M»n2°), and other places the vw» is
mentioned first (72101 ,7010 ,p"2,A").

N1B0IN answers:
— DT VIYON 99T RIPNR IN RONION INDT XINT 2oNYs 13529 90N

And the >''9 answers that wherever the dual statement is referring to a
dispute or to a 705, then the X1n mentions the ww» first.

nMooIN continues to enumerate and begins with the Xna%s factor:
— 19902 NP NINNX TYIIN 229 ND9T NINN 9D

As in that case where R'' argues with the P''n concerning a 71219; where

the X711 asked (according to the amended version of *"w9) -
— VP NNN 799D NN NHNRY NAHIT HNN 99913 1YY NYM

That X"2 should have stated the order in the reverse; a n?¥nn is Ww>
‘whether it is a 79173 (that is the case) which you (the p"n) agree with me,
so too should you (the P"n) agree with me that a mwp is also w>. It is

A mat that is used 722w is considered a >3 and is AXmW 2pn and To0% M5, A mat that is used for
covering (a hut, etc.) is not a *73 and is not 712°07% W21 XMW 23pn. A large mat is more likely to be used for
T12°0 than for 72°2w (because of its hardness, it is uncomfortable for lying), therefore the 0°nom maintain that
it is 7207 Ww>.
19 In either case a mat that was undesignated (for either 712°2% or 712°0) is presumed to be for T13°0 and is
awd.
' See previous footnote # 9, that a large mat is more likely to be used for 71°0 than 722w.
"2 See ‘Appendix’.
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therefore understood why in a Xnx%5 the 1w is first, for the second 7"7 is saying to the
first 7"n, just as you agree with me in the VY9, you should also agree with me in the 'K
vIws.

M9oIN continues with the other case of XNM9D:
— TYIIN 229N MV NI THN 199

And similarly in the case where the 7127 stated whether in 7133, etc.; there

these 1127 argue on R''1 -
— 293 13352 RYN PP¥PIN 175 IXIT 12 13N 129 PPNN RY 9NINT

Who maintained previously in the 7iwn that 3''2%9 only instituted that

they should sound the "9 on naw, only in 7135 exclusively. It follows
therefore that the 7127 respond that not only in 7712 but rather anywhere where there is a
73, one may be nawa n1a® Hnw 7"12 ypn.

mMooIn continues with the last two examples of mentioning the VYWD first:
— NIPNIRP (x,5m) NVIVIY (3,5) NDAP N2

And in P'"3 noon (concerning the w1 712) and in 7¥I® N20M (concerning a

W N2 0 an3a) those cases are referencing the p1oD, where the first is
mentioned clearly in the 7n," therefore the Xin gives it priority. This concludes the
explanation where the Xin mentions the VY9 first.

mooIn concludes concerning where the 01Wd 11°X mentioned first:
— N9NN NIYI DX TI9PNY PPN M TIIN NP NY \DINN2I XON DaN

However, here and in y»17 219, the dual statement is not referencing
anything in particular; neither a Xn2%9, nor a P09, therefore there is no

need to be particular which of the two is mentioned first.

N TR 7717 2,00 NINEAY 907 OR 7717 2,33 2OMAT K,2 77210 2,7P N, 270D Dwian TR 1''7 2,5 naw nsewn ]
Yaws 7''7 &3 PwITR MDEIN PR

SUMMARY

When a dual statement is made; if it is referencing a dispute or a P09, the
vIwd is mentioned first. In all other cases there is no concern which is
mentioned first.

1 See footnotes # 6 & 7.

'* See 01w MpOWN (in the margin) that some say that mw7n is mentioned first because wn precedes 12 (21),
and similarly 7017% precedes X1 as does 772 precede n17wa. However he rejects this from another
source (which mentions mn 12 ww axy before mn 12 PXW o0x¥¥) and concludes that we must accept the
answer of the >"7 in MOIN. See also “Thinking it over’.
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THINKING IT OVER'5
Can there be some explanation why in our case (and in N12°) the VWD 1K 1S
mentioned first?

APPENDIX!6
The 2°1w° N901N (in the margin of the X M3) states as follows:

— 2503 75 N AINN NI WP 937 BV 395 MW 1IN VI Nan Y orwaon v)]
And some explain that he mentions here mwTn X first, because anything is

first new and later it becomes old Therefore it is appropriate to mention ‘new’ first, even
though it is VYWD 11X -
— IS ONP DAY INIINI) PNIVII DD POIIINI 19 1999

And similarly by 150199, it is mentioned first (even though 1X12°1 is more VWD),

since POY’X is before PPR1 just as NM9IN2 is before n»wa.
— VIND (N, 1D 97) P28 T893 P93 AVP OIP1 SI)

However there is a difficulty for in 791 73 p95 the X 13 cites a Xn°12 which

states, that the prohibition of 12 172wn X2 o¥ (not to break a bone of the nod 127p) applies -
— N2 12 PNV OSY THN) N 13 VIV DY THN

Whether it is a bone which contains marrow, or whether it is a bone which

has no marrow -
— 13 193U N5 DY) DIUM 13 OV 95792 DIVO MIN 13 PNV 3) 5 9N

Even though that regarding a bone mn» 12 PX® it is obvious that the prohibition

of 12 172wn K> 2z’ applies to it more readily than to an "2 12 ww 0¥y -
(19997 59 093> 1190157 P PPy 13939 19975 U995 7998 NOYD INA THY NS B9

And there this explanation (of following a chronological order) does not apply;
therefore it is necessary to explain the differences as the %'' explained. The
above was a 212 n12en found on the margin of a text.

' See “Thinking it over’ in the following mXnu 71"7 MO

'® See footnote # 12.

' These o"wn9n v explain why (only) here and in N2>, he mentions the 7210 LW K.

' This requires additional clarification, for (in this case) the miw> n1%15n preceded the mwn!
1 This refers to explanation of the *"9 in our m»o1N (footnote # 12).
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